
Math!Math!
Riddle Me Riddle Me Multidigit Addition & Subtraction

Directions:
Solve each math problem. Then find the answer and write 
the letter in the correct place to solve the riddle.

A woman has 7 children, half of them are boys. How can this be?

1. 2. 3.
3 2 9
4 7 3
8 0 2

1 1

+
7 4 8
3 6 2–

6 4 7
2 8 3+ 4.

8 2 9
5 4 6–

5. 6. 7.
6 5 2
9 7 4+

4 5 9
2 0 4–

3 5 2
5 3 7+ 8.

9 0 3
5 3 2–

9. 10. 11.
2 5 2
7 8 3+

8 5 4
2 1 0–

2 6 3
7 4 8+ 12.

6 7 2
3 2 1–

13. 14.
8 2 2
3 7 1+

9 4 7
4 2 6–

.T
1 2 1 2 2 1 2 2 1 2 11 2 2

Y. 283

S. 521

L. 1035

H. 386

E. 930

Y. 1193

E. 889

A. 1626

L. 644

A. 371

B. 1011

R. 255

T. 802

O. 351

3            4 5            6            7 8            9           10 11         12        13        14

seven children; half of them are boys. How can this be?
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